Name Last,First Jones, Garrett

Tie Breaks: Total pts in Final Game

PLAYER PICKS

Scoring: Standard by Round (R1=1, R2=2, R3=4, R4=8, R5=16, R6=32)
Underdog by Round (R1=1, R2=2, R3=3, R4=4, R5=5, R6=6)

1st Round 2nd Round Field of 16 Field of 8 | Field of 4 Finals Field of 4 | Field of 8 | Field of 16| 2nd Round 1st Round
(1) Auburn Auburn (1,0) Duke (1,0) (1) Duke
(16) AlabamasSt/St Franci Auburn (2,0) Duke (2,0) (16) American/ Mt St Mar
(8) Louisville Creighton (1,1) Mississippi Stai@8) Mississippi State
(9) Creighton Michigan Oregon (9) Baylor
(5) Michigan Michigan (1,0) Oregon (1,0) (5) Oregon
R (12) UC San Diego Michigan (2,2) Oregon (12) Liberty
E(4) Texas AM Texas A M (1,0) Arizona (1,0) (4) Arizona
G (13) vale Michigan St Oregon (13) Akron
o (6) Ole Miss Ole Miss (1,0) BYU (1,0) (6) BYU
N (11) San D St/N Car Ole Miss (2,2) BYU (2,2) (11) vcu
1 (3) lowa State lowa State (1,0) Wisconsin (1,0f3) Wisconsin
(14) Lipscomb Michigan St (4,0) Alabama (4,0) (14) Montana
(7) Marquette Marquette Vanderbilt (7) St Mary's
(10) New Mexico Michigan St (2,0) St John's Alabama (2,0) (10) Vanderbilt
(2) Michigan St Michigan St (1,0) Alabama (1,0) (2) Alabama
(15) Bryant (15) Robert Morris
(1) Florida Florida (1,0) Oregon Houston (1,0) (1) Houston
(16) Norfolk State Florida (2,0) Houston (2,0) (16) SIU Edwardsville
(8) Uconn Oklahoma Georgia (8) Gonzaga
(9) Oklahoma Memphis Clemson (9) Georgia
(5) Memphis Memphis Clemson (5) Clemson
R (12) Colorado St Memphis Clemson (12) McNeese
E (4) Maryland Maryland (1,0) Purdue (1,0) (4) Purdue
G (13) Grand Canyon St John's Clemson (13) High Point
0 (6) Missouri Missouri llinois (1,0) (6) lllinois
N (11) Drake Texas Tech (2,0) St John's 1linois (11) Texas/Xavier
2 (3) Texas Tech Texas Tech (1,0) Champ Kentucky (1,0)(3) Kentucky
(14) UNCW St John's Tennessee (4,0) (14) Troy
(7) Kansas Arkansas (1,1) UCLA (1,0) (7) UCLA
(10) Arkansas St John's Tennessee (2,0) (10) Utah State

. Tie Breaker: 169
(2) St John's St John's (1,0) (Total points in Final Game) Tennessee (1,(0(R) Tennessee

(15) Omaha (15) Wolford
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